Algebra

Equations with Fractions SOLUTIONS
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11.
12.

L.CD.=

. x=3 x=-6
r=8 x=-4
r=3 x=2

r=2 x=-7 (5%
r=2 x=-10

T =95 x:%

r=-1 z=-2 (5%
r=8 x=-3

r=7 x=—06

r =95 ng (S*)

=2 x:%

Question 5

L

(x+1)(6)(x+4)
(& + D(6) (@ +4)— = — (@ + 1(6)(e +4)5 = (¢ + DO) & +4)—
(6 + (1) ~ (2 + Dz +4)(1) = @z + 1(6)(1)
(6x +24)(1) — [z(z+4) + 1(z+4)](1) = (6z +6)(1)
67 +24 — [z° + 4o + 1o +4)(1) =62 + 6

6x + 24 —

62 +24—2* —5r —4—61—6=0
—2® —5x+14=0

22 +5r—14=0
(x+7)(x—2)=0

r=—-7 =2
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[2° + 52 + 4] = 62 + 6

x (—1)
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Question 8

1 3 5
z+3 z+5 4
L.CD. = (x+3)(z+5)(4)
(& + B+ 5)A)— = + (@ + Hw +5)A)— = (o +3)(w + 5)(4)
(z+5)(4)(1) + (z +3)(4)(3) = (v + 3)(z +5)(5)

(4z +20)(1) + (4o + 12)(3) = [z(z + 5) + 3(z + 5)](5)
4z + 20 + 122 + 36 = [2° + 5x + 3z + 15](5)
162 + 56 = [2* + 8z + 15](5)
162 + 56 = 5% + 40z + 75
162 + 56 — 52 — 400 — 75 =0
—5r? — 242 —19=0 x (-1)
522 +24x +19 =0
(52 +19)(z +1) =0
19
T=x- zf=-—1

Question 11

L.CD. = (xz —2)(z —1)

(x—2)(z — 1)% o= 1)

= (
(x—DB%Hx—%8—ur 2)(x —1)(3)
3r —3+8x—16 = [z(x — 1) — 2(x — 1)](3)
1z — 19 = [2* — 12 — 2z + 2](3)
1z — 19 = [2* — 32 + 2(3)
Nz —19 =32 - 97 +6
Hr—19-32"+92—-6=0
=37 +200 —25=0 x(-1)
322 — 202 + 25 =0
(Bx —5)(x—5)=0

x—2)(x—1)3

5)
x:§ r=2>5
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